?

ARG Yol

2

R

e g2

? 46 B 56 @ 48 B 60

A 54



thS o)A BC =20, /B = 120°
o]1 AABC 9] YWo|7t40v3 ¢ uf, AB
o] Zol& FstH?

@ 8 @ 11 3 12

@ 13 G 14

7;}

120
B ~--99---C




ok 19 go
W52 o7}
o

=
o ¢tk &L Ue Hshs AB o ol

@ 2cm

@ 4cm

19083402 52

ZYZY 92¢m, lem Q1 & ZCIIH
20

cm

Al T
@ 2v2cm ® 2V3em

3 43 cm



4. t= oMM H P =+ F AB, CD 9 ifo]il & BC o] dol+=
4drem ©]th ZACD = 27° , /BPC = 57° ¥ o], o] 9] HI2]E 9]
ZdolE Fotd?

@ 20cm 3 24cm



A o, tan(90° - A)

S
13

% ABC |4 sinA =

) 7h5}2}

il

(B =90°

5.

O Zr22(H, 0° <A <90°)



D V2 ® 3 3 2 @ 3 G 4



o8 JHA PA, PB =Y 0 o HA
olt}, /P =60° OA = 4cm ¥4 T, PA
o] dol=?

@ 6cm @ 7cm ® 4+2cm
@ 4+/3cm 3 3v3cm



8.  xof B3t o|ALAA 2x2 — 11lx +a = 0 2] T 9] sin90° + cos 0°
A, q o] S FotA?

@D 14 ® 13 ® 12 @ 11 ® 10



